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1.1

f :=

(
x
y

)
7→
(
ax+ by
cx+ dy

)
=

(
λx
λy

)
où λ ∈ R

On identifie


a = λ

b = 0

c = 0

d = λ

Notons A =

(
a b
c d

)
=

(
λ 0
0 λ

)
= λI2

1.2

f est la symmétrie d’axe ∆

1.3

Notons z = x+ iy On sait que z′ = x′ + iy′ = eiθz

f

(
x
y

)
=

(
<(eiθ(x+ iy))
=(eiθ(x+ iy))

)
=

(
ax+ by
cx+ dy

)
eiθ(x+ iy) = (cos θ + i sin θ)(x+ iy)

= x cos θ + ix sin θ − iy cos θ − y sin θ

ax+ by = x cos θ − y sin θ

cx+ dy = x sin θ + y cos θ


a = cos θ

b = − sin θ

c = sin θ

d = cos θ

et A =

(
cos θ − sin θ
sin θ cos θ

)

Meth 2 cours : f :

(
x
y

)
7→ A

(
x
y

)
=

(
a b
c d

)(
x
y

)
où

•
(
a
c

)
= f(e1) = f

(
0
1

)

•
(
b
d

)
= f(e2) = f

(
0
1

)
1. f homotéthie de rapport λ

• f(e1) = f

(
1
0

)
=

(
λ
0

)
=

(
a
c

)
• f(e2) = f

(
0
1

)
=

(
0
λ

)
=

(
b
d

)
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2. f symmétrie d’axe ∆

• f(e1) = f

(
1
0

)
= e2 =

(
0
1

)
=

(
a
c

)
• f(e2) = f

(
0
1

)
= e1 =

(
1
0

)
=

(
b
d

)
3. f rotation d’angle θ

• f(e1) =

(
cos θ
sin θ

)
=

(
a
c

)
• f(e2) =

(
− sin θ
cos θ

)
=

(
b
d

)
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